EBC-KET-7 Eit Contents:

AN4-12 - Bolt, 1/4 x 1-9/32 (4)

AN4-13 - Bolt, 1/4 x 1-13/32 (1)

MS178254 - Nut (5)

M524665-134 - Cotter Pin, 1/16" x 3/4" (4)
M524665-136 - Cotter Pin, 1/16" x 1" (1)
M527641-4 - Bearing (5)

NAS1149FD432P - Washer, 1/4", Steel, 032 (4)
NAS1149F0463P - Washer, 1/4", Steel, 063 (6)

EBC-KET-8 Eit Contents:

ANS-10 - Bolt, 5/16 x 1-3/32 (4)

ANS-13 - Bolt, 5/16 x 1-15/32 (1)

MS17825-5 - Nut (5)

M524661-5 - Bearing (5)

M524665-134 - Cotter Pin, 1/16" x 3/4" (4)
MS24665-136 - Cotter Pin, 1/16" x 1" (1)
NAS1149F0563F - Washer, 5/16", Steel, .063 (10)

RBC-ET-2 KEit Contents:

AN4-12 - Bolt, 1/4 x 1-9/32 (3)

MS17825-4 - Nut (3)

MS24665-134 - Cotter Pin, 1/16" x 3/4" (3)
M527641-4 - Bearing (3]

NAS1149FD432P - Washer, 1/4", Steel, 032 (3)
NAS1149F0463P - Washer, 1/4", Steel, 063 (6)

RBC-KT-10 Kit Contents:

AN4-11 - Bolt, 1/4 x 1-3/8 Drilled Thread (3)
MS17825-4 - Nut (3)

MS24462-4 - Bearing (3)

MS24665-134 - Cotter Pin, 1/16" x 3/4" (3)
NAS1149F0432P - Washer, 1/4", Steel, 032 (3)
NAS1149FD463P - Washer, 1/4", Steel, .063 (6)



